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Exercice 1

a)

u⃗ ∧ v⃗ =

1
2
3

 ∧

4
5
6


=

2 · 6− 5 · 3
4 · 3− 1 · 6
1 · 5− 4 · 2


=

−3
6
−3


= −3e⃗x + 6e⃗y − 3e⃗z

b)

v⃗ ∧ u⃗ =

4
5
6

 ∧

1
2
3


=

5 · 3− 2 · 6
1 · 6− 4 · 3
4 · 2− 1 · 5


=

 3
−6
3


= 3e⃗x − 6e⃗y + 3e⃗z
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c)

u⃗ · v⃗ =

1
2
3

 ·

4
5
6


= 1 · 4 + 2 · 5 + 3 · 6
= 32

d)

u⃗ · (u⃗ ∧ v⃗) =

1
2
3

 ·

−3
6
−3


= 1 · −3 + 2 · 6 + 3 · −3

= 0

e)

∥u⃗∥ =
√
12 + 22 + 32

=
√
14

f)

∥u⃗+ v⃗∥ =

∥∥∥∥∥∥
1
2
3

+

4
5
6

∥∥∥∥∥∥
=

∥∥∥∥∥∥
5
7
9

∥∥∥∥∥∥
=

√
52 + 72 + 92

=
√
155
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g)

(u⃗ ∧ v⃗) ∧ w⃗ =

−3
6
−3

 ∧

7
8
9


=

 6 · 9− 8 · −3
7 · −3− 9 · −3
−3 · 8− 7 · 6


=

 78
6

−66


= 78e⃗x + 6e⃗y − 66e⃗z

h)

u⃗ ∧ (v⃗ ∧ w⃗) =

1
2
3

 ∧

4
5
6

 ∧

7
8
9


=

1
2
3

 ∧

5 · 9− 8 · 6
7 · 6− 4 · 9
4 · 8− 7 · 5


=

1
2
3

 ∧

−3
6
−3


=

 2 · −3− 6 · 3
−3 · 3− 1 · −3
1 · 6−−3 · 3


=

−24
−6
12


= −24e⃗x − 6e⃗y + 12e⃗z

3


